Nagarjuna Degree College
‘ X I ili,
LT 35 Mamagendanahall 13522
Bengaluru - 560 064.
Reg. No.

V Semester B.Com. Degree Examination, March/April - 2023
- COMMERCE
International Financial Reporting Standards
(CBCS Scheme Repeaters 2016-17 and Onwards)
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Instructions to Candidates:

~ Answers should be completely written either in English or Kannada.

SECTION - A
PN -

Answer any Five sub-questions. Fach sub-question carries 2 Marks.
NPT DR eI T3nen wu3oa. Te evs T3 QTR 50N,

(5%x2=10)

1. a) Give the meaning of IFRS.

IFRS 3 @zﬁrd&i& QeB.

b) What are intangible assets as per Ind As 382
Ind As 38 T =50 sxwess ABONSD 03zy)ey)?

¢) Give the meaning of Government grants as per Ind As 20.
Ind As 20 T =58 7570 eDTING OFEDI) eq.

. d) Expand IASB and GAAP.

IASB &02) GAAP B DJOA.

e) What is Goodwill? |
R (Goodwill) ©0ESeR?

f)  Give the meaning of warrants.
DoTOEINY ecgra:% Qed.

g) 'What are events after reporting period?
DD BTRET TR0 ToIVT PL3Srieh TR ?

[P.T.O.
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A Ltd. acquired 75% ordinary shares of Z Ltd. for Rs.12,00,000 on 1.4.2019, on that

date the fair value of Z Ltd. share was 1.50 and balance sheet of Z Ltd. stood as

follows:-
Particulars Amount (Rs.)
Assets:
Non-current Assets 10:00,000
Current Assets 6,00,000
| 16,00,000
Equity and Liabilities:
Share holders fund:
Share capital 1,00,000 share Rs.10 each 10,00,000
|Retained earnings | 6,00,000
16,00,000

Calculate Goodwill of A Ltd on acquisition date.

- [P.T.O.
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SECTION - C
YR - A

Answer any Three questions. Each question carries 14 marks. (3%x14=42)

oIRYmETR Swedd JZnen LvIOA. ©,8 [INe 14 508N,

a) Briefly explain the practical challenges in implementing IFRS.
[FRS $30mR0Y, wunds 30, 03RENG RePLONTRY, DSOA.

b) State the objectives of accounting standards.

I8, =R T IR E9A.
What is interim fmanc1al report? What are the disclosure requirements?

abzﬁ 033 TEITOR [TO 0TTERD? W&BONTATINFTOD Liﬁfﬁ F3INL SRJ)R)?
Brleﬂy explain the disclosure requirements of operating scgments under Ind

AS-108.
Ind AS-108 G SRS 50 AR DRRRY whdormEbaiod g e,

a)

b)

Noéwmﬁ QDWOA.
a) Javamh Company constructing’ power generation plant. This project requires to
tally 12 crores. Which was raised as follows:
i) Rs.4 crores from IFCI for 10 ycars @11% interest rate.
ii) Rs.2 crores of loan from HDFC bank for 6 years @10% interest rate.
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SECTION - B
| _ AN —~ W
LETD;\;S;";D];';;;D qlfs-lim\ls'. Each question carries 6 marks.
Sl Z[INOR wUBON. TS IyIne 6 03NSV,
Briefly explain the features of II;RS. -
Il*RS' NI %3)%57\’%*3% NS TN DTOX. _
Mention the list of close memebers of the family as per Ind As - 24.
Ind As - 24 Z5o0 Br0ows J8 RTRT BLIODI) IBRQR.
Meera Ltd is installing a New plant and haskincurrcd the following cost :
Cost Qi‘ plant cost per suppliérs invoice plus taxes Rs.21,00,000. Initial delivery and
han.dlmg cost Rs.1,00,000 cost of site preparation Rs.1,00,000 consultant used for
advice on acquisition of the plant Rs.1,30.000. Interest changes paid to suppliers of

thhc plant for deferred credit Rs.70,000, estimated dismantling cost to be incurred
after 6 years Rs.2,00.000. Which of these costs can be capitalised as pact of PPE

in accordance with Ind As 16 ?
T AT BeX MITT, WETIB I S5 FINT FPFI WOAT.

(3x6=18)
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From the following details of Sunder Company Ltd prepare statement of profit and
he year ended 31 March, 2020 as per schedule IIl of companies Act

=
oy
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0.

loss A/c for t

2013.

Particulars Amount (Rs.)
Revenuc 12,00,000
Purchase of stock-in-trade 7,50,000
Other income 1,50,000
Changes in stock-in-trade 1,00,000
Finance cost 50,000
Employees benefit 75,000
Depreciation of Amortisation 35,000
Other expenses 25,000

{Income tax e€Xpenses 50,000




T
{ loan from SBI bank for 4 years @12% interest rate

Rs.2 crores o

ii1) . _
ores from 10% debentures for 5 years @5% discount.

Rs.3 ¢r

iv) ) i _
overdraft from corporation bank @4% intercct rate.

V) Rs.1 crore as
Out of total borrowed fund Rs.5 crores are kept in HUDCO Bank as short

¥ (erm deposit for 6 months @5% rate.
vii) IFCI bank loan is borrowed through consultation and the consultanc:

charges are 2% of total loan amount.

Calculate total borrowing cost in accordance with Ind AS-23.

p) Carrying amount of machine is Rs.4,00,000 (historical cost less depreciation).
- The machine is expected to generate Rs.1,00,000 net cash flows for 5 vyears.
The net realisable value of the machine on current date is Rs.3,40,000. The

~
\.

entreprise required rate of return is 10% p.a. (the PV of Annuity at 10% for 3

years is 3.79)
Calculate impairment loss and show the accounting treatment as per Ind AS-36
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10.

b)

a) From the following balances of Raj Co. Ltd as on 31.3.2020. Prepare 4
Statement of Profit and Loss Alc .

Particulars Amount (Rs.)
Interest on Debentures 32,400
Travelling Expenses 15,000
Delivery van expenses 5,000
Bad debts 6,000
Discount ' 7,000
Purchases 3,15,000
Opening Stock | 75,000
Freight Charges 8,000
Depreciation . 25,000
Insurance 5,000
Commissioq received 7,500
Sales ‘ 6,50,000
Share transfer fees 5,000

Prepare statement of financial position as on 31 March 2019 as per schedule
III of Companies Act 2013.

From the following trial balance of Nagesh Mineral Ltd for the year ended 31
March, 2019

Particulars Debit (Rs.) Credit (Rs.)
Equity Share Capital -- 10,00,000
Capital reserve ' -- 1,00,000
Non-current liability -- 16,00,000
Profit and Loss A/c -- 80,000
Current liabilities -- 12,00,000
Tangible Assets (PPE) 16,00,000 -
Intangible Assets 6,00,000 --
Current Investments | 2,00,000 L
Inventories 1,80,000 -
Non-current assets 4,00,000 -
Trade Receivable (current) : 2,00,000 =
Cash and cash equivalents 8,00,000 SRR
Total 39,80,000 39,80,000

Prepare statement of financial position as on 31% March 2019 as per schedule
I of Companies Act 2013. |
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11.

a)

b)

b)

H. Lt acquired 70% of 4,00,000 shares of Rs.1 each in S Ltd. on 1* Jan 2020.
The consideration was Rs.4 per share. S Ltd had retained earnings of Rs.11,00,000

on the date of acquisition. Calculate goodwill and capital reserve.

ABC Ltd acquired 1,12,000 shares of Rs.10 each in XYZ Ltd on 1.10.2020. The
following balances are extracted from the balance sheet of ABC Ltd as on

31.3.2021.

i Share capital 1,40,000 shares of Rs.10 each.

ii.  General reserve (on 1.4.2020) Rs.1,40,000

ili. Profit and Loss A/c (on 1.4.2020) Rs.2,24,000

iv.  Profit during the year 2020-21 Rs.1,20,000

From the above information calculate the Non-Controlling Interest.

S @&)3&36"5@23 T,80300533  4,00,000 RHeoonwd  70% vz, H AR
PP SDRABR0R. 1.1.2020 Fom> [ORIA B Reork 4 Tp. . IRUE
ALEITBIEROR OVOZTOR B, 11,00,000 930300, QUVRBROBRT. TR

B AR QR S550.

ABC Oaoed® 1.10.2020 Soz> XYZ dWBEFRY 3o de. 10 T 1,12,000
a‘ied)mfaigt ARITRZROB . 31.3.2021 To8 ABC O3S 230, 5° e 0T

B8NS W ST NI, BeoSreeINE.

L &edd wommey 1,40,000 Eedoned 3wo 8n.10
RORRT; eReD (1.4.2020 Jozd) Te. 1,40,000

oo ) SFE a3 (1:4.2020 50kd) Te. 2,24,000
iv. 2020-21 T e300, dr. 1,20,000.

20O &80T D00 X SIODTY, SZT03.
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